N1999 1 299X 5 999N

NI Yy Ty

NN INDVD NINN INNI XD DN .INID NPSPNON NaY % MmN NN Javn .1
. 92 N2WWNN

y=+v2-3z

y = cos/z (2)

Yy = e 6))

y = sin(2x) cos?(3z) ()

1 1
y:a u=3v+4 v=_7 (N

2t + 3 2t +1
€r =

t+2 t+2

(2991 1285 NWNN NN NV y = Int z =t ()

(x 2921 ¢ 29D NWVNN NN INVI) §y = )}

MINXNYNN 29D MYNa YI 9 .2

y:\/‘E xTr =

1—1¢2
(t 295 NVIINY) YI NIN 1AV NN WDV NN INSD

PNPNON MTIPI PN .3

f() 1 z€N
€Tr) =
0 z€eR\N
P NN N2 TP 952 NN NN IAVN 7N NN
NPNSN D P 4

fz) =

ar+b x>0
cos T z <0
(cose = 1 IN DPDVPIPN € ORY 20 MY 117) .a, b NN NI NP NN
SPN9 Y PN —5 <t < F onna L5
y=sin2t x =sint
.0 2N 2092 y 5¥ NN BN 2 N 2DIY D93 NN INYD

77153 MNAN MIYONIN NONR .o 2 NP NPRY PNPNAG ) 29 2 NV f NN .6
: f+ g ooon



Lo 2 P NN (N)
.To 2 P NO TN (2)

DIJDN 1NAYY NORD P DIDON YNV [, g MN»P D) WP 1 KXY ()
LN N
.0OMIYL NN

0I1D0N 70210 NMININD NIYLVLNIN NN 2o 2 M PRV NYNPND f,g ny»nn .7
cf+g

Lo 2 P NN (N)

Lo 2 P NO TN (2)

DIJDN 1NAYY NORD P DID0N YNV [, g MN»P D) WP 1N KXY ()
LN N
.0OMIYL NN



